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Noise calibration (S-Curves)
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Noise VCTH scan
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=% * Noise —is a width of
s-curve at the mid-

point (Gaussian

N ——— sigma)

oo ¢ Pedestal -is a given

== = VCTH threshold w.r.t
you perform

channels calibration




Noise S-curve for all channels

efficiency (relative to the first bin)
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Trigger latency scan with high rate
source
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Latency scan with cosmics (low rate)
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Signal timing (reverse time) [TriggerLatency+TDC]
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Signal Scan with largest latency bin
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Signal Scan S-curve all channels
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efficiency (relative to the first bin)
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Noise&Signhal S-Curves
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Summary

Detector is functional
TestBech is setuped

Some problems with trigger latency to be
sorted out

Documentation is available at twiki


https://twiki.cern.ch/twiki/bin/viewauth/CMS/StrasbourgIPHCTestBench

